
DETAIL  G
SCALE 2 : 1

1

1

2

2

3

3

4

4

A A

B B

C C

D D

W132 N10611 Grant Drive
Germantown, WI 53022

DRN. BY

SCALE:

DATE:

APRVD: SIZE

C SHT.1  OF 1 

TOLERANCES
(EXCEPT AS NOTED)

DECIMAL

.XX   ± .03

.XXX ± .01

FRACTIONAL

± 1/32

ANGULAR

± 1°NO REVISION DATE BY

PKPQ10

PKPQ10, MFC Kit, PQconnect Board \
Mounting Hardware

 

DSW

1:1

9/22/2020A As Designed 9/22/2020 DSW

B 5413, Add Bracket to drawing 10/19/2020 DSW

    

    

    

    TCI, LLC CLAIMS PROPRIETARY 

RIGHTS IN THE MATERIAL HEREIN 

DISCLOSED. IT IS SUPPLIED 
WITHOUT PREDJUDICE TO ANY 

PATENT RIGHTS OF TCI AND MAY 
NOT BE REPRODUCED OR USED TO 
MANUFACTURE ANYTHING SHOWN 

THEREIN WITHOUT WRITTEN 

PERMISSION FROM TCI.

G

Material(s) Shall be RoHS Compliant

Customer Is Responsible For Installation to 
Meet All National And Local Electrical Codes. 

1.) Determine best location where there is adequate ventilation, depth for  
      components, and cables; away from any heat source.      
2.) The inside surface of the enclosure must be free of protrusions or obstructions
      in the area where the PQConnect Board  will rest. 
3.) Drill holes as needed per dimension provided.     

                         
 
 

 

Hex Standoff #6-32 Nylon 3/4"

(4 Places)

Hex Nut 5/16" Nylon 6-32
(4 Places)

Screw, Serrated, Hex Washer Flange, 6-32, .31, Stl
(5 Places)

Nut, Flange, 6-32, Stl
(1 Place)

D2

D1

D21

D5

D6

Status Ok Relay Energized 

(Optional Tuned Circuit Contactor Control 2), (D2)
                                                         

Tuned Circuit Contactor Control 1
 Relay Energized (D1)

5V Power LED (D21)

Status Code (D5)

Status LED (D6)

D6

D5

D21

D1

D2

Hex Standoff #6-32 Steel 3/4"
(1 Place)

1.948.75

8.50

1.25

3.00

6.00

1.25

Board Mounting Hardware To Plate. 

Screw, PH, TORX Taptite 10-32X.63 Zn, (3 Places)

Washer, Split, 10, Stl, (3 Places)

0.171 Dia Holes 
Needed For Bracket 

Mounting. (3 Places)
Use Above Hardware. 

1.94

8.50

A1 B1 C1

C
T

 B
T

 A
T

Modbus RTU RS485

Communication Port

NC  COM  NO

Board Ground

J1

J8

J
2

J11 J10

J
1

2

L
 N

PQ Board
(Power Supply)

Tuned Inductor 

Overtemp Switch 
Connection.


